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2. Hashing (Zp + 6p)
a) Describe the basic principles of hashing,.

b} Assess the upsides and downsides of hashing. For what kind of applications the
hashing methods discussed in this course are suitable, and for what kind of
applications they are unsuitable?

3. Sorting (10p)

Consider a task in which you have to chooce an algorithm for sorting given data.
What kind of things you take into account and which algorithms you recommend for
different cases? Name and justify three criteria in light of which you examine three
different sorting methods.

4. Minimum Spanning Tree (4p + 2p + 4p)
a) Describe an algorithm that computes a minimum spanning tree for a graph.

b) Analyse the running time of the algorithm you described in item a) in case the
graph has V vertices and E edges. Justify your answer.

¢) {llustrate how to find the minimum spanning tree for a graph by applying the
algorithm you described in item a). Let us consider the following weighted undirected
graph that has the vertices A-I and edges AB(2), AD(3), AE(6), BC(4), BE(3),
CE(1), CF(3), DE(1), EF(3). The weights of the edges are in parenthesis. The start
vertex is A.

5. Estimate how much time did you spend for this final examination (this has no
influence on grade).



